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n[ti= << /Users/jfrankli/bin/EinsteinVariation.handout.m

Problem 7.5

m Part a.

ns= gll = {{-1, 0, 0, o}, {0, 1, o, 0}, {0, 0, r~2, O}, {O, O, O, r~28in[T] ~2}};
Xu = {t, r, T, P};
Simplify[GetRiemann[gll, Xu]]

Oulf7]= {{{{0,0, 0,03}, {0, 0, 0, 0}, {0,

¢ 0,0}, {0, 0,0}},

0 0,
{{o, o, o, 0}, {0, 0, 0, 0O}, {O, 0,0, 0}, {O,0,0,0}},
{¢{0, 0, 0, 0}, {0, 0, O, O}, {O, 0,0, 0}, {O,0,0,0}},
{{o, o, 0, 0}, {0, 0, O, O}, {O,0, 0,0}, {O,0,0,0}}},
{{{o, o, 0, 0}, {0, 0, 0, O}, {O, 0O, 0, O}, {O, 0,0, 0}},
{{o0, o, 0, 0}, {0, 0, O, O}, {O, O, O, O}, {O, O, 0O, O}},
{{o, o, 0o, 0}, {0, 0, 0, O}, {O, 0,0, 0}, {O,0,0,0}},
{{o, o, 0o, 0}, {0, 0, O, O}, {O, 0,0, 0}, {O,0,0,0}}},
{{{o, o, o, 0}, {0, 0, 0, 0}, {O, 0, 0, O}, {O, 0,0, 0}},
{{o, o, o, 0}, {0, 0,0, 0O}, {O,0,0, 0}, {O,0,0,0}},
{¢{0, 0, 0, 0}, {0, 0, O, O}, {O, 0,0, 0}, {O,0,0,0}},
{{o, 0, 0o, 0}, {0, 0,0, 0}, {O,0,0, 0}, {O,0,0,0}}},
{{{o, 0, 0, 0}, {0, 0, 0, 0}, {O, 0O, 0, O}, {O, 0,0, 0}},
{{o, o, o, 0}, {0, 0,0, 0}, {0,0,0, 0}, {O,0,0,0}},
{¢{o0, 0, 0, 03}, {0, 0, O, O}, {O, 0,0, 0}, {O, 0,0, 0}},
{{0, 0, 0, 0}, {0, 0, O, O}, {O, 0,0, 0}, {O,0,0,0}}}}
= Partb.

v gll = {{a*2, 0}, (0, (R + aSin[T])"2}};
Xu = {T, P};
GetRicciS[gll, Xu]

2 8in[T]

a (R+asin|[T])
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